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1 FY INETH b & B/INER
2 372 =%405 BELlL T = FINFER
3 362 FM BELL T DEEN

4 340 307 2Hm HE/NER
5 316 6304 AT EE/NER
6 312 6202 HEH LN
7 298 D.S EHULET 2 HE/NFER
8 291 N. K INETH ERINER
9 279 419 2Hm HE/NER
10 267 425 2Hm HE/NER
11 262 Em6EIH—BF11 HET EEHBE/INFR
12 260 FH INET NEYIN=E
13 259 S.N 2HTh FRAEEINER
14 250 6102 E S B RNV
15 248 Y= Hhom = RN
15 248 YT 2HTh FBKAENER
17 238 409 2HTh HE/NER
18 235 3-8 Hhom EEINER
19 232 324 2Hm HE/NER
20 231 =%401 B LU = EINER
21 229 115 2Hm HE/NER
22 216 6214 HEH RN
23 215 Er6F 20— B F1 HET EHBE/INFR
24 211 TY 2Hm BKEINER
25 210 2-10 Hhom 2N
26 209 0216 AT KKEF/DNFR
27 205 1-4 Hhom £E2INER
28 202 1-12 Hhoh =EfE/NER
29 201 220 fi=Cauit] HE/NER
30 200 2-7 Hhoth £E2INER
30 200 1 K FFHT FEHNER
30 200 S-H INE WK /DNER
33 197 1-11 Hhom EEINER
34 196 1-6 Hhom EEINER
34 196 YT B LU AN
36 195 6 HET HEBE/NMNER
37 191 Y. K INETH EENER
38 190 0218 T KEF/DNFR
39 187 1-7 Hhoth £E2INER
40 185 HK T TEENER
40 185 04 A608 INETH A2 BA/NER
42 184 1-9 Hbhom E£EINER
43 182 mk INVETH INEINERS
44 180 S-K #5:Ih fE TR/
45 178 A% @615 INVETH 04 B/NER
46 177 2-11 Hhoth E£EINER
47 174 3-4 Hhiot E£EINER
48 173 T.REN % AT BT G INERR
48 173 MA INET AR
50 172 N.YUU 5% AT BT G INERR
51 168 1-8 Hbhom E£EINER
51 168 N. S. Bl L NER
53 162 AS A % AT ET SEINFER
54 161 ds INVET INEINERS
55 160 BE 2Hm A INER
56 158 FN 5 JEET BF/INER
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57 156 6326 F2A: 0] E S/
57 156 TK tREITh TEENFR
60 153 SA 2HTh TERINER
60 153 YT 2Hm BN ER
62 152 1-10 Hhom £FINER
63 151 0108 AT KEF/NFR
64 150 M. R Hhom FHINER
64 150 K.Ys INETH NENE A
64 150 6318 HET h R I/NFRR
64 150 6319 HET h R I/NFRR
64 150 DTT HEH RN
69 148 6422 tREITh EE/ER
70 147 L.RIKU % i AT RGN
71 146 1-5 Hhom £EINER
72 145 K.YUU % i AT RGN
72 145 mA EEER 3 F BT BEHE/NER
74 143 116 i=Eanit] HE/NER
75 141 0.TOMO 5% Bif AT RGN EAR
76 140 M-Y 5 Th TR /IR
76 140 MIS HEH BRI
78 137 0211 AT KEF/DNFR
78 137 9 HEH HEmR/INER
78 137 14 HET HEBE/NMNER
78 137 317 2HTh HE/NER
82 134 0109 AT KEF/DNFR
82 134 226 2HTh HE/NER
84 133 6330 AT ES/hE
84 133 M.R INET 0k INERR
86 132 WR INVETH SEINER
86 132 318 2Hm HE/NER
88 131 hHt=% Hhom HE RN
88 131 Y-A #5:Th fE TR/
88 131 6323 HEW RN
91 130 HF INETH EE /N
91 130 M EX 3R FET BB/ NVERR
93 129 AKOU 5% Bif AT BRIGNEAR
94 128 6327 24l ES/hER
94 128 210 2Hm HE/NER
94 128 303 2HTh HE/NER
94 128 M.T = JRHT BPNER
98 127 6331 HET RN
98 127 th 2Hm A INER
98 127 6119 f2Hm REEINER
98 127 15 s.t Ep il HEPRNER
102 126 0203 T KEF/DNFR
102 126 6130 HEH B RNV
102 126 23 HEW HEE/DNER
105 125 oLy Hbhom B RN
105 125 KT % i BT e TN 5
105 125 AN 2Hm EKAE/DER
108 124 O£ @612 INVET 04 B/
108 124 YY 2Hm EKAE/DER
110 123 1-13 Hhiot E£EINER
110 123 3-11 Hhiot E£EINER
110 123 SH P F 3R FEHT REB/INERR
110 123 H-S #5:Ih fE TR/
114 122 6310 HEH RN
114 122 203 2Hm HE/NER
114 122 UK 5 JEET BF/INER
117 121 AY % il BT e TN 5
117 121 N. K. Bl T /NER
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119 120 INETH INEINERR
120 119 407 EHm HE/NER
120 119 ks INET INEINERR
122 118 6430 #ETTH EE/NER
123 116 6112 5% Jif BT A H/NER
123 116 A% [614 INET A% BA/NER
123 116 I-Y INET NIK /NS
126 115 Y.SIN A% i AT BRI N
127 114 605 K& INLINEERR
127 114 K. T INET ERINER
129 112 6115 HET h R I/NFRR
129 112 IS 2Hm E LB /INVER
129 112 6110 2Hm BRE/INER
132 111 MK kI RE/NER
132 111 6105 BHT BRE/INER
132 111 BMY HET WR/NERR
135 110 0202 oAl KEF/NER
135 110 R i&# il BFITHE/INVER
135 110 107 2Hm HE/DER
135 110 6223 f2Hm BLEINER
139 109 aIq Hhom SRRV
139 109 6201 oAl = EA/NER
139 109 6210 2Hm BEEINFER
139 109 ts INVET INEINERR
143 108 SK t)i#?ﬁi&# AREB/DERR
143 108 311 2Hm HE/NER
145 107 6106 f2Hm BLEEINER
145 107 nm INET IINEINERR
147 106 T. H Hhoth FHIDNER
147 106 2-2 Hhoth EEINER
147 106 BHEFM i=Eanit] HEE/NER
150 105 3-13 Hbhom EEINER
150 105 6101 24l ES/hER
150 105 6108 % i AT g H /MR
150 105 SK INVET =EUNER
150 105 SJ B LT AN
150 105 =23E X Can BEHE/NFER
150 105 ErR6FE2H— B F2 HET EEHE/INFER
150 105 ErR6FEIE— B F2 HET EHE/MNFER
150 105 KS HEW HE I NER
150 105 26 HEW HEmR/INER
150 105 135 2Hm HE/NER
150 105 T.D = JRHT BPNER
162 104 R. H INVET ERINER
162 104 217 2Hm HE/NER
164 103 HDOE Hho = RN
164 103 0220 AR Ei KEF/DNFR
164 103 0107 # B KEF/NER
164 103 —iE 2Hm A INER
164 103 335 2Hm HE/NER
169 102 T.D Hhomh FHINER
169 102 Kei K FHT HLENER
169 102 0212 T KEF/NER
169 102 YM RIFTH KA /NFER
169 102 6227 2Hm HRE/NMNER
174 101 N. Y Hhomh FHINER
174 101 6311 HET /R
176 100 S Hhomh DR
176 100 6411 AT EHES/NER
176 100 ST INET A BN
176 100 TS B LT BEsE /D
176 100 AJ B LT BEsE /D
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176 100 LY. B LT /R
176 100 SK f2Hm JB/NERR
176 100 HE3 i=Eanit] Bt /NEAR
176 100 HES i=Eanit] RIANEZHA
176 100 6103 BHT BRE/INER
176 100 6230 BHT BRE/INER
187 99 A5H5 RFFH B /PR
187 99 H-M B Tmh B TR/
189 98 408 2Hm HE/NER
189 98 426 2Hm HE/NER
189 98 6205 BHT BRE/INER
189 98 6218 BHT BRE/INER
193 97 6223 % i AT A H/NER
193 97 XK R f5Th TEIE /MR
195 96 SR B Tmh B TR/
195 96 6107 HET LB
195 96 Em6EL—BF3 E S EBE/NER
198 95 1-2 Hbhomh EENMNER
198 95 tm3-1 R SR/INER
198 95 ah INVETH INEINERR




